

Online Course Materials :

Prepared by: Masiur Rahaman Sardar

Assistant Professor

Dept. Of Mathematics

City College

Mobile : 9830458374

Email - sardarmasiur@gmail.com

Subject : Mathematics

Year/Semester : 1st semester

Paper : CC-1 (Theory)

Unit/Chapter /Module : unit -3

Topic / Title : Problems and solutions on vector equations



13 Solve the eqnⁿ $\vec{r} \times \vec{p} = \vec{q}$ where $\vec{p} (\neq \vec{0})$ and \vec{q} are given vectors such that $\vec{p} \cdot \vec{q} = 0$.

Solution: Let $\vec{r} \times \vec{p} = \vec{q} \dots (1)$

Since \vec{p} , \vec{q} and $\vec{p} \times \vec{q}$ are non coplanar vectors, so any vector \vec{r} can be expressed

$$\vec{r} = c_1 \vec{p} + c_2 \vec{q} + c_3 (\vec{p} \times \vec{q}) \dots (2)$$

Now \vec{r} will be a solution of (1) if

$$\left\{ c_1 \vec{p} + c_2 \vec{q} + c_3 (\vec{p} \times \vec{q}) \right\} \times \vec{p} = \vec{q}$$

$$c_2 (\vec{q} \times \vec{p}) + c_3 (\vec{p} \times \vec{q}) \times \vec{p} = \vec{q}$$

$$c_2 (\vec{q} \times \vec{p}) + c_3 \left\{ (\vec{p} \cdot \vec{p}) \vec{q} - (\vec{q} \cdot \vec{p}) \vec{p} \right\} = \vec{q}$$

$$\Rightarrow c_2 (\vec{q} \times \vec{p}) + c_3 |\vec{p}|^2 \vec{q} = \vec{q} \quad (\because \vec{p} \cdot \vec{q} = 0)$$

$$\Rightarrow c_2 (\vec{q} \times \vec{p}) + (c_3 |\vec{p}|^2 - 1) \vec{q} = \vec{0}$$

$$\Rightarrow c_2 = 0 \quad \text{and} \quad c_3 |\vec{p}|^2 - 1 = 0$$

(as \vec{p} and $\vec{q} \times \vec{p}$ are not parallel vectors)

$$\Rightarrow c_2 = 0 \quad \& \quad c_3 = \frac{1}{|\vec{p}|^2}$$

Then from (2) we get

$$\vec{p} = c_1 \vec{p} + \frac{1}{|\vec{p}|^2} (\vec{p} \times \vec{q})$$

which is the solution of (1) where c_1 is an arbitrary constant.

14(b) Solve the following for \vec{x} where k is a non zero given scalar and \vec{a}, \vec{b} are two given non zero vectors: $k\vec{x} + \vec{x} \times \vec{a} = \vec{b}$

Solution: Let $k\vec{x} + \vec{x} \times \vec{a} = \vec{b}$ -- (1)

Since \vec{a} & \vec{b} are non zero vectors, so \vec{a}, \vec{b} and $\vec{a} \times \vec{b}$ are non coplanar vectors.

Let $\vec{x} = c_1 \vec{a} + c_2 \vec{b} + c_3 (\vec{a} \times \vec{b})$ -- (2)

Then \vec{x} will be a solution of (1) if

$$k \left\{ c_1 \vec{a} + c_2 \vec{b} + c_3 (\vec{a} \times \vec{b}) \right\} + \left\{ c_1 \vec{a} + c_2 \vec{b} + c_3 (\vec{a} \times \vec{b}) \right\} \times \vec{a} = \vec{b}$$

$$\text{or } k \left\{ c_1 \vec{a} + c_2 \vec{b} + c_3 (\vec{a} \times \vec{b}) \right\} + c_2 \vec{b} \times \vec{a} + c_3 \left\{ (\vec{a} \times \vec{b}) \times \vec{a} \right\} = \vec{b}$$

$$\text{or } k c_1 \vec{a} + c_2 \vec{b} \times \vec{a} + c_3 \left\{ |\vec{a}|^2 \vec{b} - (\vec{a} \cdot \vec{b}) \vec{a} \right\} = \vec{b}$$

$$\text{or } \left\{ k c_1 + c_3 (\vec{a} \cdot \vec{b}) \right\} \vec{a} + \left(k c_2 + c_3 |\vec{a}|^2 - 1 \right) \vec{b} + (k c_3 - c_2) (\vec{a} \times \vec{b}) = \vec{0}$$

$$kG - c_3 (\vec{a} \cdot \vec{b}) = 0 \dots (3)$$

$$k(c_2 + c_3 |\vec{a}|^2 - 1) = 0 \dots (4)$$

$$k c_3 - c_2 = 0 \dots (5)$$

from (5), $c_3 = \frac{1}{k} c_2$

Then from (4) we get $k c_2 + \frac{1}{k} c_2 |\vec{a}|^2 - 1 = 0$

$$\text{or } c_2 \left(\frac{k^2 + |\vec{a}|^2}{k} \right) = 1$$

$$\text{or } c_2 = \frac{k}{k^2 + |\vec{a}|^2}$$

$$\text{then } c_3 = \frac{1}{k^2 + |\vec{a}|^2}$$

Then from (3), $G = \frac{\vec{a} \cdot \vec{b}}{k(k^2 + |\vec{a}|^2)}$

$$\therefore \vec{x} = \frac{\vec{a} \cdot \vec{b}}{k(k^2 + |\vec{a}|^2)} \vec{a} + \frac{k}{k^2 + |\vec{a}|^2} \vec{b} +$$

$$\frac{1}{k^2 + |\vec{a}|^2} (\vec{a} \times \vec{b})$$

$$= \frac{1}{k^2 + |\vec{a}|^2} \left\{ \frac{\vec{a} \cdot \vec{b}}{k} \vec{a} + k \vec{b} + \vec{a} \times \vec{b} \right\}$$

which is the solution of (1)

(13) Show that a necessary and sufficient condition that the vector eqnⁿ $\vec{a} \times \vec{x} = \vec{b}$ where \vec{a} & \vec{b} are given vectors and \vec{a} is a non zero vector, possesses a solution is that $\vec{a} \cdot \vec{b} = 0$

Solution: Let $\vec{a} \times \vec{x} = \vec{b}$ --- (1)

Let solution of (1) be exist. Let $\vec{x} = \vec{p}$ be a solution of (1). Then $\vec{a} \times \vec{p} = \vec{b}$

Now, $\vec{a} \cdot \vec{b} = \vec{a} \cdot (\vec{a} \times \vec{p})$ ($\because \vec{b} = \vec{a} \times \vec{p}$)

$$= [\vec{a} \vec{a} \vec{p}] = 0$$

which is one part.

Let $\vec{a} \cdot \vec{b} = 0$. Clearly \vec{a} , \vec{b} and $\vec{a} \times \vec{b}$ are non coplanar vectors

$$\text{Let } \vec{x} = c_1 \vec{a} + c_2 \vec{b} + c_3 (\vec{a} \times \vec{b})$$

Now $\vec{a} \times (c_1 \vec{a} + c_2 \vec{b} + c_3 \vec{a} \times \vec{b})$

$$= c_1 (\vec{a} \times \vec{a}) + c_2 (\vec{a} \times \vec{b}) + c_3 \vec{a} \times (\vec{a} \times \vec{b})$$

$$= c_2 (\vec{a} \times \vec{b}) + c_3 \left\{ (\vec{a} \cdot \vec{b}) \vec{a} - (\vec{a} \cdot \vec{a}) \vec{b} \right\}$$

$$= c_2 (\vec{a} \times \vec{b}) + c_3 (|\vec{a}|^2 \vec{b}) \quad (\because \vec{a} \cdot \vec{b} = 0)$$

$$= \vec{b} \quad \text{if} \quad c_2 = 0 \quad \& \quad c_3 = -\frac{1}{|\vec{a}|^2}$$

$$\therefore \vec{x} = c_1 \vec{a} + \frac{1}{|\vec{a}|^2} (\vec{a} \times \vec{b}) \quad \text{satisfies}$$

the eqnⁿ $\vec{a} \times \vec{x} = \vec{b}$ and hence the

eqnⁿ $\vec{a} \times \vec{x} = \vec{b}$ has solution.